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(1) What is the definition of crank? What is the definition of rocker?

(2) According to the number of crank and rocker, please list all variations of planar 4R
linkage (linkage with 4 revolute joints), and describe the geometric conditions to form
each type of them.

(3) Please point out the pressure angle and the transmission angle in the figure.
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1. For a planar four bar linkage, the existence of a dead center is depends on whether the

is collinear with the coupler.

A. Input link B. Output link C. Ground D. Rocker

2. A planar 4R linkage (K>1) is combined in series with a centric slider-crank mechanism
(K=1) , then the coefficient of travel speed variation (K) of the new mechanism is

A. Bigger than 1 B. Smaller than 1 C. 1 D. 2

3. When designing a 4R linkage, the minimum transmission angle, vy, should be

A. As small as possible ~ B. As big as possible  C. 0° D. 45°

4. A planar 4R linkage connects the rigid links by :

A. Revolute joints B. higher pairs C. lower pairs
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A four-bar mechanism is shown in the figure, and the bar CD is B
known to be the shortest bar. If you want to form a crank-rocker
mechanism.
(1) If AD i1s the longest rod, what is the range of lengths of rack

AD (& “ D
(2) If BC is the longest rod, what is the range of lengths of rack B2-1: wAT LA

AD (¥ % %45 hmm)

Fig. 2-1: Four-bar mechanism
(length in mm)
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In the illustrated mechanism

(1) With member 1 as the active member, does the mechanism have a dead center
position? If so, draw the dead center position of the mechanism and indicate which
member is the active member of the mechanism.

(2) With member 3 as the active member, does the mechanism experience a dead
center position? If so, draw the dead center position of the mechanism and indicate
which member is the active member of the mechanism.
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Design a hinged four-bar mechanism as shown in Fig. It is known that the length of
the rocker CD is 75 mm, the length of the frame AD is 100 mm, the angle ¢ = 45"
between one of the limit positions of the rocker and the frame, and that the member
AB rotates unidirectionally at a constant speed. When the coefficient of travel-
velocity ratio K = 1, find

(1) The rod length of member AB;

(2) The rod length of member BC;

(3) The angle of swing of the rocker .
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Deadline of this homework: Oct 10 @ 23:30

Link to submission;
https://ancorasir.com/?page 1d=3987

All homework MUST be hand-written.
No late submission is allowed!

Please refer to the above link for further details on how to
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